71397 Parts Breakdown
FORD F250/F350

6R140 Transmissions

ITM# PART # DESCRIPTION QTy.
1 |1000495/499| Cast Pan 1
2 1400479 Extension 1
3 3401659 | O-Ring 1
4 3401664 M6-1 X 25MM Screw 19
5 3401665 | 6.4MM ID X 12MM Washer | 22
6 3401666 M6-1 X 90MM Screw 2

ITM# PART# DESCRIPTION QTy.
7 3401667 M6-1 X 120MM Screw 1
8 3401668 13MM OD X 25MM Spacer 3
9 3401195 M6 Lock Washer 1
10 3401369 M6 X 12MM Screw 1
11 3401485 % Dryseal Plug 1
12 3401488 % Oversized Flat Washer 1
13 3401492 % NPTF Hex Socket Plug 1






